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QID : 1 - In the following question, select the related word from the given alternatives.
Mass : Kilogram : : Volume : ?

frafafEa vy § Ry 7y foeredt 3 @ wefda e &t gHgl

gean : foretur ;| ?

Options:

1) Joule
kS

;%zl_?itre

3) Degree

foft

4) Volt

diee

Correct Answer: Litre

Candidate Answer: Litre

QID : 2 - In the following question, select the related word from the given alternativ
Fox:Vixen::?:?

frfafed mer & Ry g et 7 § efad e &1 gy

Options:
1) Butterfly : Caterpillar
faceft : gt

2) Stag : Doe
faor - fgwoft

3) Colt : Horse
EERIBCIG1

4) Bee : Drone
ST HeHeRa : AR AYATRET

Correct Answer: Stag : Doe

Candidate Answer: Stag : Doe

fazor : fRwoft

QID : 3 - In the following question, select the related letters from the given alternatives.
PQRS : 00QQ:: DEFG:?

feafafEa uy 8§ Ry 71g faeredt § € Hefa sreri st gl

PQRS : 00QQ::DEFG:?
Options:

1) CCDD
2) CCFF
3) BBDD

4) CCEE
Correct Answer: CCEE
Candidate Answer: CCEE


http://thepracticetest.in/cs_sipco_17/logout.php?appid=1368062d74107fc05177712c90c3885c
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QID : 4 - In the following question, select the related letters from the given alternatives.
PQR:MNO::DEF:?

FfafEa w8 Ry 71g faehedt & € Hefa s1eri st gl

PQR: MNO::DEF:?

Options:

1) ACC

2) ACB

3) ABC

4) BCA
Correct Answer: ABC
Candidate Answer: ABC

QID : 5 - In the following question, select the related number from the given alternatives.
7:343::9:?

frafafea ue & Ry 1y foeredt & § wefda g &t gfg

7:343::9:?

Options:

1) 529

2) 629

3) 729

4) 1008
Correct Answer: 729
Candidate Answer: 729

QID : 6 - In the following question, select the related number from the given alt

13:167::15:?
fafafea vy 8 Ry g faeredt & @ Hefda 9w &t gl

ern;@
13:167::15:?
Options:
1) 223 X
2) 224 \
3) 225

4) 227
Correct Answer: 223
Candidate Answer: 223

QID : 7 - In the following question, select the odd wo

fefafEa w8 Ry g faeedt & @ o e &t gg)

Options:

1) Mobile phone
T AT I
2) Laptop

duery

the given alternatives.

3) Television
4) Ca';hode; Rays
elte fapvot

Correct Answer: Cathode Rays

efte foot

Candidate Answer: Cathode Rays
s oot

QID : 8 - In the following question, select the odd word pair from the given alternatives.

frafafed mer & Ry q feredt & & fmm 2ree g &t gfg)



Options:

1) Gloves : Hand

I : BT

2) Tie : Neck

LERRIT

3) Hanky : Hand

EHIT : g1

4) Socks : Feet

A R

Correct Answer: Hanky : Hand
THICT g1

Candidate Answer: Hanky : Hand
EHIT : g1

QID : 9 - In the following question, select the odd letters from the given alternatives.

frafafaa v & Ry 7y feredt & @ fwm sreri &t gl

Options:
1) AG

2) RX
3) EK

4) MT
Correct Answer: MT
Candidate Answer: RX

QID : 10 - In the following question, select the odd letters from the given alternatives.

freafafea uy § Ry g faeredt & € faww sreri ot gfg)

Options:
1) GDA

2) IFC
3) YT

4) PMJ
Correct Answer: YVT
Candidate Answer: GDA

QID : 11 - In the following question, select the odd number pair fro natives.

fFafofaa uyr d Ry my et & @ o g

Options:
1) 52 - 164

N

2) 60 - 162
3)44 - 146

4)112 - 214
Correct Answer: 52 - 164
Candidate Answer: [ NOT ANSWERED |

QID : 12 - In the following question, select the odd number pair from the given alternatives.

frafafea ue & Ry 1g e & § fwm dw@n gt gl
Options:

1)27-118

2)33-132

3)41-164

4)73 - 292
Correct Answer: 27 - 118
Candidate Answer: [ NOT ANSWERED ]



QID : 13 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Bright
2. Bingo
3. Better
4. Bleak
5. Beak

frfafad el &t sreentsr & 11 aTel o & SIER ford|

1. Bright
2. Bingo
3. Better
4. Bleak
5. Beak

Options:
1) 52341

2) 53241
3) 34251

4) 32514
Correct Answer: 53241
Candidate Answer: 53241

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Nailed

2. Nailgn

3. Magazine
4. Monkey
5. Mend

frafafed el ot reaentsr & o1 arel oA & SIER ford|

1. Nailed

2. Nailgn

3. Magazine
4. Monkey
5. Mend
Options:

1) 35412

2) 34521

3) 34512

N\Z

orrect alternative from the given ones that will complete the series.

4) 35142

Correct Answer: 35412
Candidate Answer: 35412
QID : 15 - A series is given with one term m
T,R,0,M,J,H,?

Ten S1geRH foar ma 8, e & e e g 81 g g Ig e faehed gAY, STt STgehA T R
T,R,0,M,J,H,?

Options:

1H)F

2)G

3)D

4)E
Correct Answer: E
Candidate Answer: E

QID : 16 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ABC, BDF, CFl, ?
Teh 3rehd e e &, Ol @ uah v g €1 Ry ¢ Rivedl & § g Tl fehew g, St oA sl [

ABC, BDF, CFI, ?



Options:
1) DLH

2) LDH

3) DIL

4) DHL

Correct Answer: DHL

Candidate Answer: DHL

QID : 17 - In the following question, select the missing number from the given series.
283,94, 31,10,?

fafafea vy 7 Ry 7 el & @ g sfe 1 fifsg

283,94,31,10,?
Options:

13
2)4
3)5

4)7
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 18 - In the following question, select the missing number from the given series.
2,3,7,22,155,?

Ffafad mer A feg g foredt & & qw sfe 71d SIfSIg)

2,3,7,22,155,?
Options:

1) 1701

2) 1711

3) 3410

4) 3411

Correct Answer: 3411

Candidate Answer: [ NOT ANSWERED ]
tween F and C. A is between E and D. F is to the left of D. Who is between B and D?

A 21 F,D & a1d &1 BIUTD & g & 272

QID : 19 - Six persons A, B, C, D, E and F are standin

BgANTA, B, C, D, E a1 F Ueh MeAThR & @ &1 B, F G241 C
Options:

Correct Answer: F
Candidate Answer: [ NOT ANSWERED |

QID : 20 - From a point D Sarita walked 50 metres to the north, then after turning to right walked 50 metres. She again turned right and walked another 70 metres and
finally turned to right and walked 50 metres. In which direction and at what distance is she from the starting point D?

IR Ten farmg D & IR &l 7R 50 Hiex Tredt fifk 1 g & 916 50 Hiex deft| a8 G: & R ot a1 70 Hiex SR It qr sida: & g8t 8k 50 ez acht| a8 fomg D @ forwr feam &
T fopat g ;R &2
Options:

1) 20 metres to the North
20 Hlex IR A

2) 40 metres to the South
40 ez Zfaor &

3) 20 metres to the South
20 ez faror &

4) 30 metres to the South
30 ez afayor &

Correct Answer: 20 metres to the South

20 ez afgor &

Candidate Answer: 20 metres to the South

20 ez afgor &



QID : 21 - Among four friends, Govind is twice the age of Krishan. Nandu is half of the age of Krishan. Gwala is 6 years elder to Krishan, but 6 years younger to Govind.
Who is the youngest?

TR A=t & Aieg, Mfaws, 0T AT ST AT AR[AT &1 717G, 0T Sl 31T, ST STTET & | TaITelT, o0 & 6 I IgT § IR M= & 6 I8 Bl 51 3G # Gard & i 8?2

Options:
1) Govind
=

2) Krishan

Easd)
3) Nandu

T
4) Cannot be determined
1 A fonaT ST Fehal

Correct Answer: Nandu
RS
Candidate Answer: Nandu

S

QID : 22 - In the following question, select the word which cannot be formed using the letters of the given word.
Gregarious

fafafea el & @ ag e g St Ry g 2rea & S1arRT o1 TRINT ek 81 ST ST TehdT|
Gregarious

Options:

1) Vigour

2) Aries

3) Raser

4) Sugar N
Correct Answer: Vigour
Candidate Answer: Vigour

s
N

I(ers of t} given word.

QID : 23 - In the following question, select the word which cannot be formed usi
Literature

FafafE fomedl 7 & g 2ree iRy St Xy 7Q 21ea & SHeRT et TaNT ek el
Literature
Options:
1) Literate
2) Real

3) Tile

4) React
Correct Answer: React
Candidate Answer: React

QID : 24 - In a certain code language, "go there" is written as "na pa", "we and they" is written as "sa ha ta" and "go and come" is written as "pa ha la". How is "there"
written in that code language?

o fafre dle wrer , "go there” i "na pa” forar STTaT €, "we and they" & "sa ha ta" forar ST 8, "go and come” &Y "pa ha la" foraT STdT 21 59 te 9T # "there” ot fohd TR
forar smgem?

Options:

1) pa

2) ha
3) na

4)la
Correct Answer: na
Candidate Answer: na

QID : 25 - In a certain code language, "RESIST" is written as "OANPOE" and "DIGENE" is written as "CEZAJA". How is "GINGER" written in that code language?

U fafre s wmor &, "RESIST" ot "OANPOE" foar STiaT & a1 "DIGENE" &t "CEZAJA" forar ST 1 39 i o7 & "GINGER" & fohg wrep foran siraem?



Options:
1) NACJEC

2) KHFOBD
3) MHFQDF

4) JECNAC
Correct Answer: JECNAC
Candidate Answer: [ NOT ANSWERED |

QID : 26 - In the following question, by using which mathematical operators will the expression become correct?
32727871474
ffafea uer 8, Ry mu fYereat & § fone nforder Gftharsit et st e @ fean mar geftensor 9 &) srem?

32727871474
Options:
1)x,+ =and +

X, +, = ddr +

2) +,+, = and x

+, 4, = dUTx

3) x, -, =and x

X, =, = ddT X

4) +,x,=and x

+, X, =dAT X

Correct Answer: x, —, = and x

X, =, = ddT X

Candidate Answer: [ NOT ANSWERED |

QID : 27 - In the following question, correct the equation by interchanging two sig
7x6+5-12+3=41
fFrafafea uyr , ) <) nfordi dfokarai &t smow & e iy g wefiezor

7x6+5-12+3=41
Options:

1) +and +

+qUT +

2) xand +

X dd7 =

3)+and -

+quT -

4) x and -

X qYgT —

Correct Answer: + and —
+ QYT -

Candidate Answer: + and —
+qUT -

A

N

QID : 28 - If 15 (196) 29 and 16 (100) 6, then what is the value of ‘A’ in 31 (A) 48?

If% 15 (196) 29 TT 16 (100) 6 &1, Tt 31 (A) 48 H, ‘A’ T AT T gTT?

Options:

1) 361

2) 256

3) 324

4) 289

Correct Answer: 289

Candidate Answer: 289

QID:29-1f72A7B9=16and 52A5B7=12,then92A3B8="?

gt 72A7B9=16duT52A5B7 =128, d192A3B8="7

Options:
1)17
2) 92
3) 86
4) 35



Correct Answer: 35
Candidate Answer: [ NOT ANSWERED |

QID:30-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oateTag vy & for 7w foeeat # ¥ uy e
(?) & FUTT W A arell FE41 g

3 4 2
1 6 5
4 2 3
20 14 ?

Options:

1) 11 [
3)14 < )

4)16
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED |

QID:31- ( >
In the following question, select the number which"é\»

can be placed at the sign of question mark (?7) fro
the given alternatives.

e vy & T oo
(?) & TUTT UT HTeT arell

B

3 11
4 44
3 7 8 2

[p%]
[5)]

Options:
1)72

2)76
3)80

4)84
Correct Answer: 80
Candidate Answer: [ NOT ANSWERED ]



QID:32-

How many triangles are there in the given figure?

&1 o sl 3 ot Pt ¥

Options:
1) 16

2)18
3)20

4) 22
Correct Answer: 18
Candidate Answer: 18

QID:33-

How many quadrilaterals are there in the given

figure? O
& o8 Ry 3 e wg ¥2

Z

Options:
1)5

2)6
3)8

4)10
Correct Answer: 6
Candidate Answer: 5



QID : 34 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All men are scholars.
Il. Some scholars are advocate.

Conclusions:

I. All scholars are men.

Il. Some men are advocate.
I1l. No men are advocate.

2 Ry e v U § o e ofR 3% 18 39 H IR SneTRa oo sy g e €, graifes S wm Fra Jeat @ e g Tendt &1 et frsen ud ofik fiRr fRefRa &R o i
MY ot & fsend, R g sheri & MR W gRAETa &1

<hY-:
. goff gew fagm &1
. T fagH g &1

A

| g+ff fag gew 81

I. 3® I35 T &

I11. Y g gehiet T8 &1
Options:

1) Only conclusion (1) follows
haet frend (1) @81 8

2) Only conclusion (11) follows
Shaet fsd (1) TgT &

3) Only conclusion (l1l) follows
had sy (111) 98 8

4) No conclusion follows

Correct Answer: No conclusion follows

s oft freendf ot 1t §

Candidate Answer: No conclusion follows

(

some c)nclusions. Taking the given statements to be true even if they seem

4

ich"6f the given conclusion logically follows the given statements.

o

QID : 35 - In each of the following question below are given some statements foll
to be at variance from commonly known facts, read all the conclusions and then

Statements:

|. Some men are hardworking.
Il. No blue is a advocate.

Ill. Some blue are men.

Conclusions:

I. Some blue are hardworking.

Il. Some men are advocate.

Ill. Some blue are not hardworking.
IV. Some men are not advocate.

2 Ry e v U § o wme ok I 16 G ehiHl U2
MY ot § fsend, R Qg sherl & SR W gRAGd &

Ry &, grtifer S8 Iy [1d deat G fA=ar 8 Gehd! g1 Tt ey ug ofiR fr RafRa o fp few

hY:

. & YN Agdt &l

I1. s frem e e &1
. $ et 2w &l

fAreepe:

I. $® it Ageh &1

Il. & g2V qhie &1

1. S et A<t 78 81

IV. $& gzy ahict el &1

Options:

1) Only conclusion (IV) follows

haet fsepd (IV) Tét g

2) Only conclusion (I1) and (IV) follow
haet fsmy (1) o fsey (1V) a8t &

3) Only conclusion (1), (1) and (1V) follow
Shaet fasepd (1), (I1) a2 sy (IV) Tt &
4) Only conclusion (lll) follows

Shaet et (IIl) TE 8

Correct Answer: Only conclusion (1V) follows

Shaet fsns (IV) TET 8
Candidate Answer: [ NOT ANSWERED ]



QID:36-

From the given options, which answer figure can be
formed by folding the figure given in the question?

Brafaiea Resdt § ¥ i o =31 3
# & 7% Pl B A TS S G o7

Options:
1

6

5

4

3

5

Correct Answer:

1

2

Candidate Answer:

3

5




QID:37-

From the given options, which answer figure can be
formed by folding the figure given in question?

rafafaa fweul & @ &g @ 39% Jea v

# & 7 R B ASH TS o Toa B2
] O
|

Options:
1)
&
®
2
A
alL.
3)
A
o H
4)
®

Correct Answer:

Candidate Answer:




QID:38-
In the given figure, which letter represents electronic
mixer which is white?

& o ety & SlF o e 1 PR
FrFmR S @t € @ gET &7

Mixer/

‘_ﬁ:m:m

Electronic/ — A
EEEHIEEY
AVA
R
White/@the

Options:
1)f

2)gq

3)e

4)b

Correct Answer: g
Candidate Answer: g

QID:39-
In the given figure, which number represents yellow,

capsicum which is not rotten? @
Q '

& ad ety &, @l W aw
S W S e B AR

Ro

6
Capsicum/ o Chair/
air
— 1 45 |8 1M1 |+
Rrerem B ] gt
3 10
7
Y ellow/dreT
Options:
1)4
2)3
3)2
45

Correct Answer: 3



Candidate Answer: 3

QID : 40 -

In the given figure, what is the total of strong blades
and sharp steel?

& e Agla # Ay fs@ gur g sTUa &
T HEA fRcel €2

Blade/ Steel/
=TT 72 A &~ T

o]
61 Sharp/
S 68 [V o=

Strong/ASLT

Options:
1) 24
2)16
3)29

«&

Correct Answer: 24

Candidate Answer: 24

QID: 41-

Which answer figure will complete the p
question figure?

B @ 3 HAFa wF
wLat?

@®




Options:

1)

Correct Answer:

®

Candidate Answer:

®

QID: 42 -

Which answer figure will
guestion figure?

did d 39 ATFla
HLafr?

-~




Options:

1)

Correct Answer:

Candidate Answer:

QID:43-

From the given answer fig
which the question figure i

&1 TR 39 ApaAT A ®
o & uy 3gpfld BT &

4

&

ein

H e



Options:

1)

pa

/

Correct Answer: O

Candidate Answer:

QID: 44 - \
From the given answer fig e in

which the question figure i

& 7% IR Hplaar # |
o & vy 3pfa BT &

F Fam

IN




Options:

1)

&

>_

Correct Answer:

Candidate Answer:

QID :45-

A piece of paper is folded a
below in the question figures. F
answer figures, indicate how it will &
opened?

@ & uy aEad # BT HqER e @
ABAT Teed JUT Wikt & IIC 98 Tohd 30X AP
s g e

/‘}\'rﬁ




Options:

1)

N

w

S

SIREIRPIRE

Correct Answer: O

= O
o L0

Candidate Answer:

O
o L0

QID : 46 -

<

A piece of paper is folded own
below in the question figu
answer figures, indicate en

opened?

& & uy gpfaar A FETS
Az Sea 9UT Gheld & a1¢ dg fohg a1 Aga
st fears game

=

5
'




Options:

1)

4

[+] o [+] =]
o o o =] =]

Correct Answer:

Candidate Answer:

o

Q o

QID : 47 -

If a mirror is placed on the
answer figures is the ri
figure?




Options:
1)

ol = | B

Correct Answer:

]

Candidate Answer:

»

QID : 48 -

If a mirror is placed on the
answer figures is the ri
figure?

afg we gUuT @ AB L@
T HEEAT A @ wiF @
e ufafesa g

Ak B



Options:

1)

3

3

Correct Answer:

"8}

Candidate Answer: [ NOT ANSWERED ]

QID: 49 -
A word is represented by only one set of numbers as given in a
the altematives. The sets of numbers given in the_alte
represented by two dasses of alphabets as shown
matrices. The columns and rows of Matrix- a
that of Matrix-ll are numbered from 5 ices can
be represented first by its row and ne
be represented by 03, 34, efc, and ¢
Similarly, you have to identify the set

TE e had Uh HEA-HE GNI % Awedi
relt v & fear s ) Awedt & Ry g HERT & o 9t
grT garte o ¥, St 5 fRw mw @) anegw
ofts it =T 0 F 4 ¥ 3R ImegEll 5 F 91 59 IgE F TF HaW B
eer sEdt ot 3R @ & T wEa gNT griiar S @eaT §1 3Eeeer
& forw K &1 03, 34, 3% err geifan o @har & awr B & 50, 97,
31fE gy gutan w1 w@war ¥ sd aee & U ww A Ry weg “SHOP”
& fow wopp o TEAEEn ¥

Matrix-1 Matrix-1l

Sl el
0]1]12(3]|4 5|16|7|8|9
OIR|S|H|K|A S|T|N|P|O|E
1|K|A|R|S|H 6|O|E|T|N]|P
2|/S|H|K[A|R TIN|P|O|E]|T
3/AIR|S[H[K B|E[T|N|P|O
4|HIK|A|R|S 9|P|O|E|T|N




Options:
1) 01,21, 58,96

2) 44,02,89,76
3) 14,33,77,56

4) 33, 40, 65, 88
Correct Answer: 44,02, 89, 76
Candidate Answer: 44, 02, 89, 76

QID: 50 -
A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altermmatives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix- are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, *X’ can
be represented by 10, 44 etc., and ‘M’ can be represented by 75, 99, elc.
Similarly, you have to identify the set for the word “PLAN".

TF T HON TH TEA-Help &RI gutar T ¥, Swr B Rewedt & @
el v @ e e #) Beedt & Ru v sw-wep sawi & @ g9t
aRT guite e ¥, St T RE i @ anegEt @ ¥ awege & we AR
ufth & T 0 & 4 ¥ 3R AegEl 15 | 91 59 HYE § U Haw B
usal 3ad dft 3R ae A ey ' o sl = g@ear ) seRAor
& e X @10, 44, W grr gatar a1 wwar & W M- @ 75, 99,
3 gwr qutar o waar ¥ se ot & oSt ww #F T s “PLANT
& T THE F ueaEa &

Matrix-| Matrix-1l
£ el
0(1[2]3]4 S5|6|7|8(|9

O|P|CIE[X]|N S|A[M|L S
1|X|N|[P|C|E 6|1 |[S|A
2ZIE[X|[N[P]C )
JIC|E[X[N]P [
4IN|P|C|E[X

Options:
1) 12,58, 67,40

2) 41,76, 98, 04
3) 00, 95, 57, 12

4) 23, 68,79,22
Correct Answer: 41,76, 98, 04
Candidate Answer: 41, 76, 98, 04

QID : 51 - Devaluation is majorly doneto ____.

e ;& forg fomar Srar 1
Options:

1) encourage export

frafa &t sgM & forg

2) encourage import

3T i TgM &

3) discourage import

3T ht A & & flg

4) To encourage both export and import
Frafa aur smard €Y & faw

Correct Answer: encourage export

frafa & Tem & fag

Candidate Answer: To encourage both export and import
fafa qer smara <41 &Y s & forg



QID : 52 - Foreign investment is known by which name in India?

9Ra 7 faReft d<r &l forg s & ST Srar 82
Options:

1) SME (Small and medium-sized enterprises)
Q9. QA 3. (ew, 7Y U Hemm Feih )

2) MDI (Management Development Institute)
. St 37T, (Usie Tenfivehy eer)

3) FDI (Foreign Direct Investment)

. 3. o, (vet fadeht e

4) Cll (Confederation of Indian Industry)

ot g, org. (Wt e uRyw)

Correct Answer: FDI (Foreign Direct Investment)

. 3. onE. (Ut fadeft )

Candidate Answer: FDI (Foreign Direct Investment)

. 3. o8, (Ut fadeft )

QID : 53 - What is the full form of NNP?

QG o7 SiTe =0 T 82

Options:

1) Normal Net Production

JE e IaTe

2) Net National Product

U TE IS

3) Normal National Produce

HET A ITE

4) Net Normal Produce

e am= 3T

Correct Answer: Net National Product
[ L IS

Candidate Answer: Net National Product
[ L IS

QID : 54 - 'Inclusive Growth' was the objective of which Five Year Plan?

‘grrasft faenre’ fohg daaifa g o1 32T ar?

Options:
1) Tenth
ggdf

2) Eleventh

3) Twelfth

qRgdt

4) Ninth

it

Correct Answer: Eleventh

Candidate Answer: Tenth

QID : 55 - The Green steel plants of Bhilai, Durgapurand Rourkela were established under which Five Year Plan?
s, gafgR quT TRehen & gRa 3T T Al Tt foRg Taafar ater & R Y TS o2
Options:
1) Second
2) Fourth
<reft
3) Fifth
S
4) Sixth
B

Correct Answer: Second

Candidate Answer: Second

QID:56-Ina

government, the final decision-making power must rest with those elected by the people.

R A sifer Pt 3 5 R it g1 3 g ot 3 o @ g R



Options:
1) Authoritarian

2) Autocratic
g
3) Monarchic

4) Democratic
Corrept Answer: Democratic

Candjdate Answer: Democratic

QID : 57 - Which of the following statement is true about “Community Government”?

I. This government is elected by people belonging to one language community.
IIl. This government has the power regarding cultural, educational and language related issues.

frfafed # § &9 91 e ngeriich 9XaR & Hes A 98l 82

|. 39 TREHR I AT Teh &l | Siei ared AR e 8

I. 39 ORI TR, A& SR o1 S A9 R had 7 a1 YRR 81
Options:

1) Both I and Il

| e 11 &t

2) Only |

e |

3) Only Il

Fad I

4) Neither I nor Il

Fariain

Correct Answer: Both land Il

| T |l g
Candidate Answer: [ NOT ANSWERED ]| (,

| auth)lty and various constituent units of the country.

QID : 58 -

___ <TTa R F wate I e MR T Sl v Smgdfien sersat &

Options:
1) Feudalism

HHIAG
2) Democracy
dep-at

3) Federalism

is a system of government in which the power is divided betwee

4) Aristrocracy

Cprrect Answer: Federalism
Gedrg

Qandidate Answer: Federalism
qYdiq

QID : 59 - Under which pardoning power of the President, one form of punishment is substituted by a lighter form?

frfafea & @ Tyufa & fohe emrer afth & sfarfa, 8 &t uepfa &t 73 &= i sTrar 82

Options:
1) Commutation

STYh0T

2) Remission
3) Respite
wfirqeor

4) Reprieve
BIECEC]

Correct Answer: Commutation

T T
Candidate Answer: [ NOT ANSWERED ]

QID : 60 - Concept of Judicial Review in Indian Constitution has been taken from which country?

AR Gfae & =arfes geter o1 oraur forg <1 @ forar mar 82



Options:
1) Ireland
IRRAS

2) USA
quEg
32’Australia

4) Canada

hTST

Correct Answer: USA
quEg

Candidate Answer: USA
quEg

QID : 61 - Council of ministers are collectively responsible to which of the following?

Frg Hit afkwe Fefafed & & faes ufa anjfess &0 @ SwRard gl 82

Options:
1) President

2) Lok Sabha

i o

3) Prime Minister

T HA

4) Speaker of Lok Sabha
Sich T & Sreger

Correct Answer: Lok Sabha
e o

Candidate Answer: Lok Sabha
oteh gT

QID : 62 - The vote of the speaker of Lok Sabhaiscalled ____.

ARG & ST AT dle _____ hgerrdT gl
Options:

1) Casting vote

Aot 7

2) Sound vote

afy 7

3) Direct vote

UT& Hd

4) Indirect vote

Y& HT A
Correct Answer: Casting vote \
Aot 7

Candidate Answer: Casting vote
Aot 7

QID : 63 - Which of the following state do egislature?

Frafafea & § forg T A fgge fauden 7 82

Options:

1) Madhya Pradesh
A U

2) Telangana
GEUICH

3) Uttar Pradesh
IR TR

4) Bihar

fagr

Correct Answer: Madhya Pradesh
A TR

Candidate Answer: Madhya Pradesh
A TR

QID : 64 - In Indus valley civilization, Great Bath is found in which of the following place?

ey =rét ozran &, ge TR a1 fagner EeR fFEfafed § @ frg AR & urar war 82



Options:

1) Lothal

arre

2) Mohanjo-daro
Tig St

3) Mitathal
Ao

4) Kalibangan
Eocico)l

Correct Answer: Mohanjo-daro
Aig Siest

Candidate Answer: Lothal
et

QID : 65 - Taxila University is located currently in which country?

aeifrer frsyfener adam & fhg g & fa &2

Options:

1) Bangladesh
IS

2) India

HRd

3) Pakistan
urfhEaT

4) Nepal
JuTed
Correct Answer: Pakistan

Candidate Answer: India
HRA

QID : 66 - Battle of Haldighati was fought between which two armies?

EeTTE T geg, foheT &t emadt & dfter ot T om?

Options:

1) Babur and Lodi Empire

IR qUT ANl G~

2) Babur and Rana Sanga

TSR T 0T i

3) Akbar and Hemu
STRER qUT 8,

4) Akbar and Maharana Pratap
3TcheR dYT HGRTUT UdTq

Correct Answer: Akbar and Maharana Prata
3cheR YT AZRIUM UdTg

Candidate Answer: Akbar and Maharana Pr:
3cheR YT AZRIUN UdTd

QID : 67 - Where did Gautam Buddha took

T g 3 weraRfMafor gl forr a2

Options:
1) Patna
rcif

2) Kushinagar

TR
3) Varanasi
qRIORH

4) Sarnath
AT
Correct Answer: Kushinagar

TR

Candidate Answer: Kushinagar

TR

QID : 68 - Who had built the 'Amer Fort'?



Options:

1) Akbar

3cheR

2) Raja Man Singh

Tt 7 R

3) Uday Singh Il

I &g I

4) Maharana Pratap

HERIUN Ud1q

Correct Answer: Raja Man Singh
NEIEICEEE

Candidate Answer: Raja Man Singh
NEIEICEEE

QID : 69 - On which of the following date/dates, winter solstice is observed in Northern Hemisphere?

I. 21st December
1. 5th August
IIl. 10th January

fFr=fafaa 7 @ foray/ e fafdy/Rifdat R 39t menns, & faertet sra=iid &t 3am SirdT 87

. 21 REsr
1. 5 ered
1. 10 St
Options:

1) Only |
thad |

2) | and Il Both
| g2 1l &

3) Only lIl
Fhae Il

4) Only Il
Shad |l

Correct Answer: Only |
|

Candidate Answer: Only |
e |

QID : 70 - Barren Island is located in which of the following country?

&R giu Ffafea # & g a4 fa 82

Options:
1) Italy
gt

2) Australia

3) India
HARA

4) Pakistan
urfREaT

Correct Answer: India
HRd

Candidate Answer: [ NOT ANSWERED ]

QID : 71 - What is a strait?

Teh Seraantt (¥e) &1 8?

Options:

1) A water body separating two land masses

Y T BT ST R aTelT Ueh 51t Fepry

2) A narrow strip of land separating two water bodies
3l STt fehTal ht SIeRT het aTelT Yff <l Uek |

3) Deep penetration of a water body in land

A & eh it FHieRra et e wat

4) N%ne of these

Correct Answer: A water body separating two land masses

S T Y 31T A ATeAT Yk e [ehrd

Candidate Answer: A narrow strip of land separating two water bodies

3 STt fehTal et ST heet aTelT YfH <l Ueh et

QID : 72 - Which of the following country is a land locked country?
frafofea & @ o o 3 gt s e @2



Options:

1) India
HRd

2) Malaysia
AARKT

3) Switzerland

4) Pakistan

urfhEdT

Correct Answer: Switzerland

Candidate Answer: Switzerland

QID : 73 - The only planet whose period of rotation is longer than the period of revolution around the sun?

UehATS g foreeht gufe <t srafey g & aRi SR aRerHor 6t Srafd § 1fdres 82

Options:
1) Mercury

&
2) Jupiter
Fewfd

3) Venus
Ash

4) Neptune
g1

Correct Answer: Venus
Ash
Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Who among the following is known as 'Father of Medicine'?

ffifea 3 3 fhg 'siwfd e & siHes’ |1 ST 82

Options:
1) Darwin

2) Hippocrates
3) Heckle

et

4) Edward Jenner
TSaS IR

Correct Answer: Hippocrates

Candidate Answer: Edward Jenner

QID : 75 - Which of the following is a vesti

fFr=fafaa & @ o a1 ama RRR &1 e sl

Options:
1) Tailbone

2) Spleen
faeett

3) Thyroid
Tt

4) Gall bladder
[ESIED

Correct Answer: Tailbone

Candidate Answer: Spleen

QID : 76 - Which of the following cell organelle is responsible for cellular respiration?

frfafed & § o &t S shren wiefa gue & g Swrertt 82



Options:
1) Golgi bodies
et arer

2) Mitochondria
3) Nucleus

4) Lysosomes
IR

Correct Answer: Mitochondria

Candidate Answer: Golgi bodies
oot STt

QID : 77 - Who among the following gave 'The Theory of Natural Selection?

fFrafafea & @ fram 'urepfaes 997 @1 Rigia’ far ar?

Options:
1) Richter
Raex

2) Lamarck

AT

3) Darwin

4) Redi

T

Correct Answer: Darwin

Candidate Answer: Darwin

QID : 78 - Which of the following pair is INCORRECT?

I. Crocodile — Reptile
IIl. Frog — Amphibian
Ill. Tiger — Reptile

frafafea § & &= ar gm a9t 78 82
|. TRAS - T

Il. Hoeh — IUTR
111 sre - w9y
Options:

1) landl

| qarll

2)land il

I aar il

3) Only Ill
had Il

4) Only Il
& I

Correct Answer: Only IlI
et 1

Candidate Answer: | and IlI
laurlil

QID : 79 - Uric acid is chief nitrogenous waste of which of the following?

frfafed & & gien sret fenerehT g e S STfE 87

Options:
1) Human
EIEC)

2) Frogs
Aeh
3) Fishes
aSelt

4) Birds
gaft

Correct Answer: Birds
ueft

Candidate Answer: Human
AT

QID : 80 - Masses of stars and galaxies are usually expressed in

AR AT SMTRIFTTSN & geadHi et & Taiy § =k fohal ST 8




Options:

1) Earth's mass

gt &1 geEHH

2) Solar mass

BREIECLIC]

3) Lunar mass

IGHT Dl GHHATT

4) Neutron mass

Y T g EN

Correct Answer: Solar mass
T 1 g

Candidate Answer: [ NOT ANSWERED ]

QID: 81 -
Match the following.

TrafEa & e HifaT)

Quantity / AT S| Unit/ TH. 313, SHIS
1. Resistance a. Watt

gfaae aie
2. Energy b. Ohm

B 3
3. Power c. Joule

QMR =

Options:
1)1-b2-c¢3-a

2)1-a2-¢3-b

3)1-b2-33-c

4)1-c¢,2-a3-b
Correct Answer: 1-b,2-¢,3-a
Candidate Answer: 1 -b,2-c¢,3-a

A

N

r chips?

QID : 82 - Which of the following is widely

ffafaa 7 @ forge Iugi s &9 & o
Options:

1) Radium

Rcue

2) Sodium

aifeaq

3) Germanium

4) Sulphur

e ord

Correct Answer: Germanium

Candidate Answer: Germanium

QID : 83 - The first law of thermodynamics is related to conservation of which one of the following?

AT &1 v Rigia Fafaf@a & 3 forg & @Reor @ efda 82

Options:
1) Energy
St

2) Number of molecules
STupat i Hw=m

3) Number of moles
it T T

4) Temperature

GISEIGE



Correct Answer: Energy
Candidate Answer: [ NOT ANSWERED ]|

QID : 84 - Any data (or) instruction entered into the memory of computer is called as

1g ot ST a1 A& St fof R AT AR A S S 3% ed &

Options:
1) Hard copy
TS ohrdY

2) Input
§14C

3) Output
SISy

4) Information

Correct Answer: Input
Candidate Answer: Input

&1

QID : 85 - Which of the following is not a computer language?

I. C++
1. Java
IIl. Linux

frafafea & @ o o g sreges v T8 82

I. C++

1. Strer

1. AT
Options:
1) Only |
haet |

2) Only Ill
haet Il

3) lland I
IFaar i
4)land Il

I qar il

Correct Answer: Only IlI
el

Candidate Answer: Only IlI
el

QID : 86 - Which material is used in the ma

FAfereeh 81X hige o AmToT 7 fonet waref &t
Options:

1) Copper

GIC])

2) Iron

R

3) Nickel

ket

4) Nichrome

Correct Answer: Nichrome

Candidate Answer: Nichrome

QID : 87 - Which of the following cloth will readily catch fire?

fFafofea 8 9 a9 a1 susT e § 31FT UshedT 82
Options:

1) Cotton cloth
Gelt et
2) Polyester cloth

1l I FHTUST
3) Acrylic cloth

T HUST

4) Nylon cloth
AT T HUST



Correct Answer: Cotton cloth
et et

Candidate Answer: Cotton cloth
et et

QID : 88 - Which of the following are the main components of stainless steel?

Frafafea & §, SRl gwra & g e o 3 82
Options:
;%gl;on and carbon

qUT A

2) Silver
ey

3) Iron, chromium and Nickel
gt shiffas aur e

4) Iron and nickel
T aur

Correct Answer: Iron, chromium and Nickel

oieT, shifaram aer e

Candidate Answer: Iron, chromium and Nickel

oiteT, shifaram qer e

QID : 89 - Which of the following metal has the lowest density?

fafafea 3 @ frg arg &1 a9 e &9 87
Options:

1) Lithium

fefomm

2) Iron

et

3) Gold

Sic)l

4) Vanadium

Correct Answer: Lithium

Candidate Answer: Lithium

QID : 90 - Which of the following primarily produces Nitrogen dioxide lea;

frafafea & @ & arg ugwor & forg smroft Arggie srgeifaarss & ot
Options:

1) CFL Lamp

It T T T

2) Automobile Battery
EIGEIEIEC]

3) Polymer

dgelsh

4) Diesel Engine

EESESES

Correct Answer: Diesel Engine
EESESES

Candidate Answer: [ NOT ANSWERED |

QID : 91 - What was the main aim of Kyoto Protocol?

TSt UICiehiet o q& Je3d T oT?

Options:

1) Conservation of wetlands

ST Ty

2) Bio-diversity Conservation
fafdrerar et <Reror

3) Global Warming

Tetee arfHT

4) Climate Change
Setaryg uRacd=

Correct Answer: Global Warming

Tt At

Candidete Answer: Global Warming

QID : 92 - If in any water Body, there is high BOD value then it is generally .
SR Rt ST # et & A Sifdeh 8, AT ur ____ gt gl



Options:

1) Very clean

dgd 9Tth

2) Very polluted

gd

3) Highly productive

ST IAeH

4) Highly unproductive
ST SFgcaTEsh

Correct Answer: Very polluted
g TS

Candidate Answer: Very polluted
g T

QID : 93 - What is the name of the scheme for food processing sector to be launched by The Ministry of Food Processing Industries?

Options:
1) MITRA
el

2) URJA
St

3) SAMPADA
Huar

4) BHOJAN
e

Correct Answer: SAMPADA
Tuer

Candidate Answer: SAMPADA
Tuer

QID : 94 - Who among the following is an inventor of an electric telegraph?

fafafea 3 @ oF e ared & snfashre &2

Options:

1) Samuel F. B. Morse
=gt . ot T

2) William Austin Burt
faform sife s

3) Hans Lippershey
& formsf

4) William Stanley
faferam <=t

Correct Answer: Samuel F. B. Morse
Jrgere U, o A
Candidate Answer: Hans Lippershey

& forast

QID:95-
Matich the following.

TaefEa o B St

Player / fremsr Sport/ @

1. Chetan Anand a. Tennis
e G e

2. Virat Kohli b. Badminton
ferTe FrEa d=fFea

3. Sania Mirza c. Cricket

wTfera &= forere



Options:

1)1-b2-¢c,3-a
2)1-a,2-b3-c
3)1-a,2-¢3-b
41-c,2-33-b

Correct Answer:1-b,2-c¢,3-a
Candidate Answer: 1 -3a,2-¢,3-b

QID : 96 - ‘Mohiniattam' dance is associated with which of the following state?

Hifgrered’ 7 378 § fohe o @ defda 82
Options:

1) Kerala

Eagl

2) Karnataka

Eirc

3) Tamil Nadu
GIECEIS

4) Andhra Pradesh
3ty e

Correct Answer: Kerala

Candidate Answer: Karnataka

QID : 97 - Who among the following is a recipient of Padma Shri for the year 2016 in the field of Art-Music?

frafaf@a & 4 o= dfta-aen & &= | af 2016 & w=rsh nreend 87

Options:
1) Sonu Nigam
o

2) Kailash kher
ST TR

3) Aruna Mohanty

30T Higedt

4) Shubha Mudgal

LT Hael

Correct Answer: Kailash kher
EIRIREEN

Candidate Answer: Shubha Mudgal
AT Hael

QID : 98 - Who amongst the following authored the

FAfafed & @ &l 'mief 37 JuRT g&ie & a6 f
Options:

1) M. Veerappa Moily

.

2) Dinanath Gopal Tendulkar
MY TS dgae]

3) Dr. Ashwini Kumar

. Ay AR

4) M. P. Veerendra Kumar

. . dRs FAR

Correct Answer: Dinanath Gopal Tendulkar

ATy MU dgete
Candidate Answer: [ NOT ANSWERED ]

QID : 99 - India and South Korea have signed a MoU on ship building. Which organisation has been nominated by India for this collaboration?

IR T &feroT sRifvan = ia fmfor & forg ues awsiiar Fmoe (qraiiyg) R g%er fhd €1 WRa 7 fohg T &t 39 wgeiiar & forg mei-fia fomar &2
Options:

1) Hindustan Shipyard Limited

g Ruaré fafies

2) Magazone Dock Limited
TEATT Eieh fAifies

3) Cochin Shipyard Limited

Hife Ryard fafaes

4) Hoogly Dock and Port Engineers limited
EISISEERIIECIECRITI BT

Correct Answer: Hindustan Shipyard Limited

gwm e fafads

Candidate Answer: [ NOT ANSWERED ]



QID : 100 - Which two neighbouring countries of India held military exercise named 'Sagarmatha Friendship — 2017'?

IR & o1 & vl 3 3 'arRes fmrar - 2017 e S 1T o1 Sirate faar?

Options:
1) Afghanishtan-Pakistan
SHTTARAT-UTRET

2) China-Bhutan
-2 e

3) China-Nepal
AT

4) China-Pakistan
arfehear

Correct Answer: China-Nepal

Candidate Answer: [ NOT ANSWERED ]

QID : 101 - The sum of three consecutive odd numbers is always divisible by ____.

& T ooy Gemme e avT ___  gasn fenfSa gt g

Options:
1)3

2)9
3)15

4) 21
Correct Answer: 3
Candidate Answer: 3

QID : 102 - A boy added all natural numbers from 1 to 20. However he added one number twice, due to which the;m becomes 215. What is the number which he
added twice? g

e et 1 8 20 ok HY Toft urepfacs Treamsit ol Siear & Afeh a8 Yok e ot &l IR Sitg 41 & e N1 215 B ST 8| 8 ST 1 @ fgen! 399 &) IR Siter 87

Options: —
15

2 \\< >

3) 11

4)15

Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]|

QID : 103 - 6/7 part of a tank is filled with oil. After taking out 60 i

ek hY BT 6/7 UTT 9 T 9RT 1 60 oftex det

Options:
1) 350

k is 4/5 part full. What is the capacity (in litres) of the tank?

B1 &Y Y e (eftex F) @ 87

2) 700
3) 360

4) 1050
Correct Answer: 1050
Candidate Answer: [ NOT ANSWERED |

QID : 104 - For what value of N, 34N will be a perfect cube, where 34N is a 3 digit number?

N & forg 791 & forq 34N ek qof &1 giv, STgt 34N Tk 3 ikl &t T &2
Options:

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]



QID: 105 -

What is the value of

il it ol ol
R - R

1113111 111 11l 111 @ am
i PR T Ry 1 B M gy

grm?

Options:
1)
1112
6

2

T
6

3)

555—
6

4

5551
6

Correct Answer:

555E
6

Candidate Answer: [ NOT ANSWERED ]

QID : 106 - P, Q and R together can complete a work in 40 days. P
in how many days?
P, Q @7 R firetene fonef} avrf &t 40 AT & g

Options:
1) 40

an complete the same work in 90 days. Then R alone can complete the same work

h

&t 90 Tl A QX1 h Fehdl &1 R STeheTl I8 & ot et f&AT # ORT e Fehat &7

2)72
3)84

4) 90
Correct Answer: 72
Candidate Answer: 72

QID : 107 - A alone can complete the work in 10 days, B alone can do same work in 12 days and C alone can do the same work in 15 days. They jointly complete the
work and earn Rs 4500. What is the share of C?

A 3raer forlt & @t 10 Rt & g1 o WehelT ©, B 31kt St i aht 12 fAT # QR1 R Feha & T C 31hell St i aht 15 faAT  qR1 R Tl &1 U6 Ueh ATY i ol ORT v § T
4500 %. AT g1 C &1 fowa am givm?

Options:

1) 1800

2) 900

3) 1200

4) 1500

Correct Answer: 1200
Candidate Answer: 1200

QID : 108 - 3/4 of marked price is equal to 5/6 of selling price. What is the discount percent?

Sifehd e T 3/4 fasha 7w & 5/6 & SRTeR 1 e Ufdrd a1 82



Options:
1) 125

2)10

3)15

4)11.11

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 109 - An article having marked price Rs 2400 is sold for Rs 1872. What is the discount percentage?

e a%g forerenT Sifchd g 2400 3. 8, &t 1872 %. | ST SITdT & | BT a1 Ufera a1 872

Options:
1) 21

2)22
3) 24

4) 26
Correct Answer: 22
Candidate Answer: 22

QID:110-1If 3P =2Q and 2Q = 3R, then whatis P: Q : R?

afe 3P =2Qdur2Q = 3R g, dt P: Q: RFATgm?
Options:

Correct Answer:2:3:2 )
Candidate Answer:4:6:9

o

QID : 111 - The ratio of the speed of Aman, Kamal and Mananis 4 : 5: 6 respecti t is the;tio of the time taken by Aman, Kamal and Manan respectively to

cover the same distance?

SHART: ST, T qT 7 S 7Tl T ST 42 51 6 §1 T G 0T &het o ford g
Options:

1)10:12:15

2)6:5:4

3)4:5:6

4)15:12:10

Correct Answer: 15:12:10
Candidate Answer: 15:12:10

T gRT oI TR G <l SUTd T gRTT?

QID : 112 - Average of 36 results is 18. If 2/is subtracted

36 gfRoml @ 3fitad 18 &1 afe e uRome & <l Sei Sifdl &, df URumH ot 741 3fed o givm?

Options:
19

, then what will be the new average of the results?

2) 16
3)17

4)17.5
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

QID : 113 - The average marks obtained by 140 students in an examination is 90. If the average marks of passed students is 120 and the number of students who
failed the examination are 90, then what is the average marks of students who failed the examination?

Teh UR1ETT H 140 BT & gRT U $16d 3feh 90 81 I I<iof S o Sfied sfeh 120 & a7 Sig=iol S i T 90 &, at udier & Srg<iivl gY o o Siied Sieh T 82

Options:
1) 60

2)73.33
3) 85.66

4) 88
Correct Answer: 73.33
Candidate Answer: [ NOT ANSWERED ]



QID : 114 - A shopkeeper professes to sell his goods at cost price but uses a 930 gm weight instead of 1 kilogram weight. What will be the profit percentage of the
shopkeeper?

Ueh GRIMGR 3704 |1 i 3 Hed UR 9 ol Q1aT el & wifch I8 Geh foh.T0T. o T 3 T UR 930 AT o ST ST TRINT Sl & | GRMER Sl AT Hfdrd T gim?
Options:

Correct Answer: 7.52
Candidate Answer: [ NOT ANSWERED ]

QiD: 115-
The cost of pencil is 33%% less than the cost
price of a pen. If a man sells 4 pencils at the cost
price of 5 pens, the what is his profit percentage?
UF U & FY AT 06 oA & 59 qoT
sséuﬁ'ramm% af 1 <t 4 ST @

5 el & T Hed U 9=dT &, df SHAT o
ufaRra a7 gem?

Options:
1) 50
2) 66.66
3)75

4)87.5
Correct Answer: 87.5
Candidate Answer: [ NOT ANSWERED ]

QID : 116 - If the radius of a circle is increased by 50%

Ifg Ten g1 <t BArsar & 50% <t gfg Hr et 8, anfi?
Options:

ntage increase in the area of circle?

Correct Answer: 125
Candidate Answer: 125

QID : 117 - If the height of cylinder is increased by 35% and radius is increased by 10%, then what will be the percentage increase in curved surface area of cylinder?

I g de Y Fard F 35% Y gfg i st & Far B & 10% 6t iy i St &, dt S & ask gty &t § fhawt ufasra $i gfg gifi?

Options:
1) 46.5

2) 45
3)485

4) 49.7
Correct Answer: 48.5
Candidate Answer: 48.5

QID : 118 - A boat goes 2 km upstream and 3 km downstream in 20 minutes. It goes 7 km upstream and 2 km downstream in 53 minutes. What is speed (in km/h) of
the boat in still water?

Qe A1g 20 e & 2 .t ey & ufageer qe 3 .. eR1 & sre st &1 a8 53 fame & 7 foh. . ey & ufader aen 2 6.t oRr & srpaer st 81 f@R 511 & =1ma i fay (e .
ufd der 7) 82



Options:
1) 75/7

2) 120/7
3) 135/7

4) 150/7
Correct Answer: 135/7
Candidate Answer: [ NOT ANSWERED ]

QID : 119 - A train can travel 25% faster than a car. Both start from point A at the same time and reach point B 165 km away at the same time. On the way the train
takes 40 minutes for stopping at the stations. What is the difference in the speeds (in km/hr) of train and car?

Teh TS Ueh R § 25% I Tl &1 &1 foig A & Toh 8t I9g IR IR v & 39T 165 foh. 1. ox f¥a fig B ok var &t wwa ugaa &1 9t & Yerme) el iR s & forg 40 fime
A &1 ISt quT SR hl 1 & e SieR (fh AT ufey e F) 82

Options:
1) 6.375

2)7.635
3)9.75

4)12.375
Correct Answer: 12.375
Candidate Answer: [ NOT ANSWERED |

QID : 120 - An amount was lent for one year at the rate of 18% per annum compounding annually. Had the co ourFing been done half yearly, the interest would have
increased by 324. What was the amount (in Rs) lent? o

e oI Y 1 e & forg 18 wfdid wfda aehgfes samet &l &% @ IuR fam mam| asrgfs =t siefarfiien 819 wR,
Options:

1) 32000
2) 36000

3) 40000 p
4) 72000 [ ot
Correct Answer: 40000 )

Candidate Answer: [ NOT ANSWERED ]

QID : 121 - A certain sum becomes 5 times in 3 years, at simple interest, then i ears it will become 13 times?

& FTUROT HTST TR TS TS his G 3 I A 5 AT 81 571t 8, af fenelg) i

Options:
1)6

2)15
3)9

412
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED |



QID: 122 -

The line chart given below represents the runs scored by
Kohli and Sharma against 5 teams.

@ o o7 T@r = # Fieeh 9Ar AT e 5EAT F
Reg T 7T |1 S AT T3

—*—Kohli/ ®lgelt ™ Sharma / IAT

Team / &1F O

What is the total runs scored by Kohli against 5 teams?

il GRT 5 &Y & g 1Y 7Y e 3 fohewt 87
Options:
1) 5000

2) 4800
3) 4700

4) 4500
Correct Answer: 4800
Candidate Answer: 4800



QID:123-

The line chart given below represents the runs scored by
Kohli and Sharma against 5 teams.

@ o o7 T@r = # Fieeh 9Ar AT e 5EAT F
Reg T 7T |1 S AT T3

—*—Kohli/ ®lgelt ™ Sharma / IAT

3 ;cored by Sharma against the teams Q and R?

FIgelt gRTEM Q TUT R & faFg I91Y 7Y et A1 a1 (AT gRIEA Q FATR & faFg s
Options:
1) 200

2) 400
3) 900

4) 800
Correct Answer: 800
Candidate Answer: 800



QID: 124 -

The line chart given below represents the runs scored by
Kohli and Sharma against 5 teams.

@ o o7 T@r = # Fieeh 9Ar AT e 5EAT F
Reg T 7T |1 S AT T3

—*—Kohli/ ®lgelt ™ Sharma / IAT

Team / &

Runs scored by Kohli against team S is how much percent less than the runs scored¢by SHa aga am S?

Tigel! RI AT S & faReg FTT 7T 3, sl gR1 &1 S & faeg F10 U 9 & foha= wfae

Options:
1)70.21

2) 68.33
3) 58.33

4) 41.66
Correct Answer: 58.33
Candidate Answer: [ NOT ANSWERED ]



QID:125-

The line chart given below represents the runs scored by
Kohli and Sharma against 5 teams.

@ o o7 T@r = # Fieeh 9Ar AT e 5EAT F
Reg T 7T |1 S AT T3

—*—Kohli/ ®lgelt ™ Sharma / IAT

1400 - 1300
1100

0 . . . . . |
P Q R s T ( )
Team | & & s\
Total runs scored by Sharma against 5 teams is what percent of total runs scored b Koi?(ééai‘ t 'tea'r,ns?
et gRT 5 & & faeg, I91Y U et 3, igedt gRT 5 &1 & foeg, 91T 714 St 341 'al?r%?/

Options:
1) 104.16

2) 96
3)98.13

4) 108.24
Correct Answer: 104.16
Candidate Answer: [ NOT ANSWERED ]

QID : 126 - If the height of a given cone becomes four time dius of the base becomes twice, then what is the ratio of the volume of the given cone and the

volume of the new cone?

Tfg Ry Mg iy T TS TR AT B SQ TAT ITh SR ehl (21521 & AT 81 1Y, dt &g 7Y 24 & ST qT 7 i & AT Al ST T gRIT?
Options:

1)1:4

2)1:8

3)1:16

4)1:32

Correct Answer: 1:16

Candidate Answer: [ NOT ANSWERED ]

QID : 127 - Parallel sides of a trapezium are 26 cm and 40 cm and the area is 792 cmZ2. What is the value of the distance (in cm) between parallel sides?

Toh TS TGS St THIGR oy 26 .70, qur 40 .7, & For IGH et 792 A.H1.2 1 TwieR et & S i g (&A1 .H) frah Enfre
Options:

1) 24

2) 48

3)12

4) 36

Correct Answer: 24

Candidate Answer: 24

QID : 128 - The area of a circle is same as the area of a square. What is the ratio of the diameter of the circle and diagonal of the square?

Qe Gl T &15Tthel Gh &l S &1Tthel oh SRTeR & | G oh ST T &t & fenvf et Sruet aam gvm?



Options:

1)1:vn

2)2:vn

3)v2:vm

4)1:m

Correct Answer: V2 : V1t
Candidate Answer: 2 : VTt

QID : 129 - If the perimeter of a rhombus is 40 cm and one of its diagonal is 16 cm, then what is the area (in cm?) of the rhombus?

af; et wrrargefet o1 uRmTd 40 .. R o 3T geh kol o1 A 16 .Y, 8, o Trageds 1 dchet (3.+0).2 F) @ @2
Options:

1)72

2) 48

3) 96

4) 192

Correct Answer: 96

Candidate Answer: 72

QID : 130 - Two identical circles intersects so that their centres and the points at which they intersect form a square of side 2 cm. What is the area (in cm?2) of the
portion that is common to the two circles?

@ TAEY I o ZER Y 39 TR Hidede d & o 3 hg a1 a8 g o W g wforede e € W qeh 2 Q.4 oo arett anf geren 1 @i gt 3 It o bt dethet (3742
#) e §?

Options:

1) 2n-4

2)4m-8

3)3n-4

4)mn-2

Correct Answer: 21 - 4

Candidate Answer: [ NOT ANSWERED |

QID : 131 - If x -y = 3, then what is the value of x3 - y3 - 9xy?

g x -y =38, dl x3 — y3 — 9xy ol &1 &1 ghIT?

Options:
1)3

2)9
3)18
4)27

Correct Answer: 27
Candidate Answer: [ NOT ANSWERED ] \\

QID:132-

If x*—9x +1 =0, then wh

e x?-9x+1=07% ar x°+

Options:
1) 54

2) 108
3)702

4) 810
Correct Answer: 702
Candidate Answer: 702



QID: 133-
lfa+b+c=3and noneofa, bandcisequalto,
then what is the value of

1 + 1 + 1 ?

(1-a)(1-k) (1-B)(1-c) (1-c)(1-a)

AEa+b+c=3 W a bdWc AT A M1 F

I T & ar

1 1 1
(—a)(1=b)  (1=b)(1=¢)  (I-c)(1-a)

¥

Options:
1)0

Rl HTeT <FT

2)1
3)3

4)6
Correct Answer: 0

Candidate Answer: 1
QID:134- O
(32 +b2](a—b]—(a3 —b3]
What is the value of 5 ?
a’b—ab’

(az+b2](a—b]—(a3 —ba]

T HT FIT &7

a’b—ab’
Options: \@
1)0
2)1 \
3)-1
43

Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]|

QID : 135 - What is the simplified value of (x128 + 1)( N4+ 1)1+ 1) + 1)(x* + )2+ 1)(x + 1)?

(128 + 1)(x3Z + 1)(x®% + 1)(x"6 + 1)(x8 + 1)(x* + 1)(x2 + 1)(x + 1) &I TReliepel T T ?
Options:

1) x2%6-1
2)




Correct Answer:

5256 _ 4

x -1
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - DEF is an isosceles triangle with such that DE = DF = 60 cm and EF = 96 cm. DG is a median to base EF. What is the length (in cm) of DG?

DEF G wfgag et & 5w DE = DF = 60 9.+, 9T EF = 96 .71, §1 DG 4R EF &t #fedient &1 DG &1 A (3.7, #) @/r ghm?
Options:

1) 22

2) 36

3)24

4) 32

Correct Answer: 36

Candidate Answer: 36

QID : 137 - In AABC, AD and AE are bisectors of ZBAC and £BAD respectively. If ZBAE = 30°, AE =9 cm and EC = 15 cm, what is the area (in cmz) of AAEC?

f39qsT ABC &, AD T AE shHS1: £ BAC @1 £ BAD & fgTores 81 af& £ BAE = 30°, AE = 9 @4}, quT EC = 15 @.#1. &, &t et AEC o1 &kt (8.7#1.2 &) & arar gvm?

Options:
1) 36
2)54

3)72
4)216 [

Correct Answer: 54
Candidate Answer: [ NOT ANSWERED ]| GLN

QID : 138 - Circum-centre of APQR is O. If £QPR = 55° and ZQRP = 75°, what is the value (in degrees) gf OPR?,)

APQR &7 9fehg 0 &1 afe £QPR = 55° @um £QRP = 75° &, @t £ OPR @1 A4 (f&ift &) am ghm?
Options: P S
1) 45 (

2) 40

3) 65 »y

4)70

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - A chord of length 120 cm is at a distance of 32 cm fro

120 &+ @it gep Sfta, Yo g s T 32 8. 3.1,

Options:
1) 96

circle. What is the radius (in cm) of the circle?

2)34
3)72

4) 68
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED ]|

QID : 140 - ABC is a equilateral triangle. O is the point of intersection of altitudes AL, BM and CN. If OA = 16 cm, then what is the semi-perimeter (in cm) of the triangle
ABC?

ABC T& @HaTg ST 81 0, AL, BM T CN & ufa=ebe a1 farwg 81 afe OA = 16 .7, g1, F BrfsT ABC &l srguRRf¥y (3.+t. #) arm givm?
Options:

1) 8v3

2) 12v3

3) 16v3

4) 243

Correct Answer: 24v3

Candidate Answer: [ NOT ANSWERED ]



QID : 141 -

fe+o= g and tan 8 = +/3 , then what is the value of

cos (8- ¢)?

ofg 8+cp=gFr21TtanB=u'§%, at cos (B— @) T
AT FT &7

Options:

1)1/2

2) v3/2

3)1

4)1/v2

Correct Answer: v3/2

Candidate Answer: v3/2

QID:142-

If x and y are positive acute angles such that

\3

sin(2x + 3y) = % and cos(4x - 3y) = at then what
is the value of tan (6x — 3y)?

n| G

TR x TU y YATHS GBI &, sin(2x + 3y) =

JAcos(dx - 3y) = %% ar tan (6x — 3y) &1 AT
T ¥7

Options: N
1)0 \

21
3)1/v3

4) V3
Correct Answer: v3
Candidate Answer: 0

QID : 143 - If 3 cot 8 = 4 cos 0, then what is the value of cos 28?

7f& 3 cot B = 4 cos B &, d cos 26 T A &IT §HIT?

Options:
1) 2/16
2)-1/8
3)7/16
4)9/16

Correct Answer: - 1/8
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - A person observes that the angle of elevation of the top of a pole of height 15 m is 30°. What is the distance (in metres) of the person from the pole?

Teh 2afh UTdT & o 15 Hiex $ars aret gan @ & 2fief ot 37 htor 30° 81 39 @ § aafth Y gt (e F) foraft 82

Options:
1)15

2) 15v3
3) 15/v3

4) 30
Correct Answer: 15v3



Candidate Answer: 15v3

QID : 145 - If cosec? 8 + cot? B = 7, then what is the value (in degrees) of 67?

& cosec? 6 + cot? @ = 7 &, dt 6 1 A (fetht &) e gvm?

Options:

1)15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: [ NOT ANSWERED ]

QID : 146 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

Gr or o5 R # e =T & Ifde @ & g
(ufaem &) & gefar mr &)

Saving/
LG
20%

Education/

farear

enditure (in Rs) on Rent?

If the total salary of the person is Rs 50000,

gfe; afh &l et 3T 50000 %. &, F o R

Options:
1) 16000

2) 12000
3) 7000

4) 8000
Correct Answer: 8000
Candidate Answer: 8000



QID: 147 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

er 7w g7 R # wr cafes & AR a7 & g
(ufSera &) & gofam T §)

Clothes/
w93
15%

Saving/
T
20%

Education/

- Rent / fepImm

16%

What is the central angle (in degrees) made by the sector of expenditure on Education?
fR1en wR foRd 7Tq =7 & & S gIRT ST T S ahior (FTht ) R 82

Options:
1)93.6

2)88.2
3)843

4) 95.2
Correct Answer: 93.6
Candidate Answer: [ NOT ANSWERED |

<



QID: 148 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

er 7w g7 R # wr cafes & AR a7 & g
(ufSera &) & gofam T §)

Clothes/
w93
15%

Saving/
T
20%

Education/

- Rent / fepImm

16%

The expenditure on food is how much percent more than the expenditure on Savings?
Ao TR fohar a7 oo S9d R fhT 719 e @ fehae ufavrd sifdres 82

Options:
1)12.21

2)15
3)13.04

4) 11
Correct Answer: 15
Candidate Answer: 15

<



QID: 149 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

er 7w g7 R # wr cafes & AR a7 & g
(ufSera &) & gofam T §)

Clothes/
w93
15%

Saving/
T
20%

Education/

farear

Rent / faramar
16%

If the expenditure incurred on Clothes is Rs 3000, then what is the expenditure (in Rs) incurred on

afe wuel w favar mar =g 3000 <. 8, at fen R fovar mar = (3. 7) T g

Options:

1) 4300
2) 5050
3) 5200
4) 5600
Correct Answer: 5200

Candidate Answer: 5200




QID: 150-
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

er 7w g7 R # wr cafes & AR a7 & g
(ufaeE &) @ geiar 7 §)

Clothes/
w93
15%

Saving/
LG
20%

Education/

- Rent / fepImm

16%

The central angle made by the sector of expenditure on Fuel is how much more (in degrees) than & cenra angre made by the sector of expenditure on Clothes, if
the ratio of the expenditure on Fuel and Clothes is 4 : 3 respectively?

$e WR fohq Y 23 & &5 & gIRT ST TRIT s ShivT hUST UR foh Y 9 & &5 o gIRT
AT 4: 387

Options:
1)18

) & e aifes 8, o $o qeT FHuST W Y g @ T SuT

2)32
3)36

4) 45
Correct Answer: 18
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the
a sentence is free from error, select 'No Error'.

errors. Find out which part of the sentence has an error and select the appropriate option. If

Mathematics and Chemistry are (1)/more easier than (2)/ Physics and Biology. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 4

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Jaipur is (1)/ further from Patna (2)/ than Chandigarh. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 153 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Rahul was (1)/ the richest of (2)/ the two persons. (3)/ No Error (4)



Options:

Correct Answer: 2
Candidate Answer: 2

QID : 154 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Ritika gave her friend (1)/ no money nor she did help her (2)/ in any way. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 155 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Low interest rates are tempting (1)/ many customers to take (2)/ on too much debt. (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 3

o’ N N

QID : 156 - In the following question, the sentence given with blank to be filled in with an appropriéite word: Séblect the correct alternative out of the four and indicate it
by selecting the appropriate option.

V. % W

e)

v

I bought a new TV last month, but |
Options:

1) has not sell

2) have not sold

3) have sold

4) am selling

Correct Answer: have not sold

Candidate Answer: have not sold

my old TV yet, so at present | have two T

QID : 157 - In the following question, the sent
by selecting the appropriate option.

d in with an appropriate word. Select the correct alternative out of the four and indicate it

Piyush plays volleyball an experienced person.
Options:

1) as though

2) as if

3) as of

4) as

Correct Answer: as

Candidate Answer: as

QID : 158 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

One should grapple all the dangers.
Options:

1) on

2) with

3) off

4) for

Correct Answer: with

Candidate Answer: with

QID : 159 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Scarcely had Ramesh gone there he met his father.

Options:
1) then
2) than
3) when
4) for




Correct Answer: when
Candidate Answer: when

QID : 160 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Mobile phones _____ popular in India in the last five years.
Options:

1) have become

2) became

3) are becoming

4) are become

Correct Answer: have become
Candidate Answer: have become

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Dishevel
Options:

1) clutter
2) unreal

3) foolish
4) adamant

Correct Answer: clutter
Candidate Answer: adamant

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning to the wo giv%.

Traitor N
Options:

1) soother ’

2) turbid P~ S
3) epicure )

4) deceiver

Correct Answer: deceiver
aning to the word given.

Candidate Answer: deceiver

QID : 163 - In the following question, out of the four alternatives, select the wor

Obscure
Options:

1) confusing
2) appease
3) servile

4) obvious

Correct Answer: confusing
Candidate Answer: obvious

QID : 164 - In the following question, out of the four alterna ect the word similar in meaning to the word given.

Pathos
Options:
1) hesitant
2) rebuke
3) sorrow
4) clumsy

Correct Answer: sorrow
Candidate Answer: [ NOT ANSWERED ]|

QID : 165 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Perdurable
Options:

1) irregular

2) long-lasting
3) fitful

4) abandon

Correct Answer: long-lasting
Candidate Answer: long-lasting

QID : 166 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Bountiful



Options:

1) generous

2) meager

3) copious

4) teeming

Correct Answer: meager

Candidate Answer: [ NOT ANSWERED ]|

QID : 167 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Inertia
Options:
1) feeble
2) repel
3) energy
4) peace

Correct Answer: energy
Candidate Answer: feeble

QID : 168 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Nuisance
Options:

1) disperse
2) confront
3) bold

4) pleasure

Correct Answer: pleasure
Candidate Answer: pleasure

-

QID : 169 - In the following question, out of the four alternatives, select the word opposite in meaning to the word)ven.
i w

Renaissance

Options:

1) decadence

2) pestilence

3) prehistory

4) immorality

Correct Answer: decadence

Candidate Answer: decadence

QID : 170 - In the following question, out of the four alternatives, rd@pposite in meaning to the word given.

Hegemony
Options:

1) renowned

2) unpopular

3) notorious

4) subordination

Correct Answer: subordination
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In the following question, out of the four altérnatives, select the alternative which best expresses the meaning of the idiom/phrase.

In vogue

Options:

1) Danger

2) Boastful

3) Ambitious

4) Popular

Correct Answer: Popular
Candidate Answer: Danger

QID : 172 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

In a fix

Options:

1) Witching

2) Making imaginary schemes

3) In puzzling state

4) Talk irrelevantly

Correct Answer: In puzzling state
Candidate Answer: In puzzling state



QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To hammer out
Options:

1) To raise alarm
2) To plan

3) To take part
4) To be tired of

Correct Answer: To plan
Candidate Answer: To raise alarm

QID : 174 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A mare's nest

Options:

1) A rumour

2) A false praise

3) A difficult situation

4) A constant source of annoyance

Correct Answer: A rumour
Candidate Answer: A difficult situation

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Stand for
Options:

1) Represent
2) block

3) Resist

4) Discuss :
Correct Answer: Represent )

Candidate Answer: Represent g et

QID : 176 - Improve the bracketed part of the sentence. » )

It is the time the four years old (is learning) how to read and write.
Options:

1) learn

2) was learning

3) has learned

4) no improvement

Correct Answer: learn
Candidate Answer: has learned

QID : 177 - Improve the bracketed part of the s

He plays football and basketball (also).
Options:

1) too

2) although

3) besides

4) no improvement

Correct Answer: too
Candidate Answer: no improvement

QID : 178 - Improve the bracketed part of the sentence.

Neha was really happy (while) | accepted her invitation for her marriage.
Options:

1) as

2) when

3) then

4) no improvement

Correct Answer: when
Candidate Answer: when

QID : 179 - Improve the bracketed part of the sentence.

Vishal (could be able to) work out these problems easily.
Options:

1) should be able to

2) must be able to

3) can be able to

4) no improvement

Correct Answer: should be able to

Candidate Answer: can be able to



QID : 180 - Improve the bracketed part of the sentence.

It is fifteen years since | (have begun) living here.
Options:

1) began

2) begun

3) had begun

4) no improvement

Correct Answer: began
Candidate Answer: had begun

QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The murder of one's sister
Options:

1) uxoricide

2) sororicide

3) smother

4) parricide

Correct Answer: sororicide
Candidate Answer: sororicide

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A hater of new things

Options:

1) sanguine

2) intransigent

3) misoneist

4) misocapnic

Correct Answer: misoneist "
Candidate Answer: sanguine

QID : 183 - In the following question, out of the four alternatives, select the alternati whf'éﬁ is fh) estSubstitute of the phrase.

Fear of snakes

Options:

1) ophiophobia

2) acrophobia

3) xenophobia

4) claustrophobia

Correct Answer: ophiophobia

Candidate Answer: ophiophobia

w

QID : 184 - In the following question, out of the fo t the alternative which is the best substitute of the phrase.

A group of girls

Options:

1) knell

2) archive

3) ennui

4) bevy

Correct Answer: bevy

Candidate Answer: [ NOT ANSWERED ]

QID : 185 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Guided by one's sense of duty
Options:

1) conscientious

2) gaggle

3) amnesia

4) circumvent

Correct Answer: conscientious

Candidate Answer: conscientious

QID : 186 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) abbreviate

2) accommodate

3) admittance

4) aggresser

Correct Answer: aggresser

Candidate Answer: [ NOT ANSWERED ]



QID : 187 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) velocity

2) viscocity

3) variability

4) vegetarian

Correct Answer: viscocity

Candidate Answer: variability

QID : 188 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) auxilliary

2) assiduous

3) affidavit

4) affiliation

Correct Answer: auxilliary

Candidate Answer: auxilliary

QID : 189 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) ignominious

2) illumination

3) inquitous

4) immediately

Correct Answer: inquitous
Candidate Answer: inquitous

o

V-

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorregtly spelt word.
Options: ((

1) perpetuity P

2) preferential

3) predecesser }

4) percussive pr y

Correct Answer: predecesser
Candidate Answer: predecesser

QID : 191 - In the following passage some of the words have been left out. Re.
four alternatives.

e carefully and select the correct answer for the given blank out of the

A man's first duty is to know his business and act and fait
energy and sensibility in ideological and passive sympathy
not only useless but and meaningless too. Habi inelulgen

re. Many a good intentioned person unknowingly wastes much of his time,
human which he can neither remove nor alleviate. This kind of sympathy is
of sympathy is ____ and cowardly.

A man's first duty is to know his business and a
Options:

1) honestly

2) suspiciously

3) smartly

4) actively

Correct Answer: honestly

Candidate Answer: honestly

ly in hiSown sphere.

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and _____ sensibility in ideological and passive sympathy for many sorts of human ____ which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

Many a good intentioned person unknowingly wastes much of his time, energy and sensibility
Options:

1) practical

2) senseless

3) emotional

4) irresistible

Correct Answer: emotional

Candidate Answer: practical

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and sensibility in ideological and passive sympathy for many sorts of human which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

sympathy for many sorts of human which he can neither



Options:

1) deeds

2) needs

3) wants

4) sufferings

Correct Answer: sufferings
Candidate Answer: wants

QID : 194 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,

energy and sensibility in ideological and passive sympathy for many sorts of human _____ which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.
This kind of sympathy is not only useless but and meaningless too.

Options:

1) unimaginery

2) unproductive

3) thoughtful

4) thoughtless

Correct Answer: thoughtless

Candidate Answer: unproductive

QID : 195 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

{
A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned pérson unknowingly wastes much of his time,
energy and sensibility in ideological and passive sympathy for many sorts of human _____ which he can neithér.remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathyis _____ and/oowardl ;
Habitual indulgence in this kind of sympathy is ___ and cowardly. “
Options: PV an \
1) inevident { \,
2) imbecile 3 2
3) undesirable N, N
4) extraordinary A
Correct Answer: imbecile 2

Candidate Answer: imbecile

QID : 196 - A passage is given with five questions following it. Read the p
alternatives.

ly and select the best answer to each question out of the given four

Soft skills refer to non—technical, personality specific skills that ar
Soft skills encompass anything and everything t
interaction, team spirit and all related aspect nical i ure.

In today's competitive world, the only sustainab tage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be mor efers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism th to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, com d attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills aré about projectin and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to.others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

nd follow compared to technical skills. Therefore these skills are called Soft skills.
a group, an individual or an organization in relation to behaviour, performance,

Which of the following is not true about soft skills?
Options:

1) they are easy to learn

2) it involves team spirit

3) it is a non—technical skill

4) it does not relate to an individual

Correct Answer: it does not relate to an individual
Candidate Answer: it does not relate to an individual

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

What is not included in the cluster of soft skill?



Options:

1) personality traits

2) social graces

3) pessimism

4) leadership skills

Correct Answer: pessimism

Candidate Answer: pessimism

QID : 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

What all skills an aspirant seeking a job should possess to build his career?

Options:

1) interpersonal abilities

2) character traits

3) knowledge

4) All of these {
Correct Answer: All of these g

Candidate Answer: All of these )
/
QID : 199 - A passage is given with five questions following it. Read the passage carefully and select thé best ans’wer to each question out of the given four
alternatives. 2N A
# X

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow combared to t}achnical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an, |nd|V|&l\1aI or ah organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.
In today's competitive world, the only sustainable competitive advantage that ca
ability of the people of the organization. To be more precise, soft skill refers to the
habits, friendliness, leadership skills and optimism that mark each of us to varyi
knowledge, character traits, interpersonal abilities, combined with ethics and a
organization. For corporates, soft skills are about projecting oneself and one's
are about how you interact with and react to others when you come into
make, but in an attractive and charming manner.

éluplicate;i is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
of personality traits, interpersonal skills, social graces, etiquettes, personal
s FOF aspirants seeking job, a variety of basic traits and skills like

the key to their ability to get a job, to keep it, and to move up in the

skills in the best possible way, and taking a holistic view of things. They
m; they enable you to zero down to the most important point you want to

Select the suitable title for the passage.
Options:

1) Soft skills: a non-technical skill

2) Soft skills: your competitive advantage
3) Soft skills: a complete skill

4) Soft skills: the best leadership skill

Correct Answer: Soft skills: your competitive advantage
Candidate Answer: Soft skills: a non—technical skill

QID : 200 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

According to the passage, which of the following statement is INCORRECT?

Options:

1) corporates want a holistic view of things

2) soft skills cannot be duplicated with any other skill

3) soft skills are just confined to an individual

4) an aspirant seeking job needs to have combination of ethics and attitudes to climb up the ladder of success in corporate world
Correct Answer: soft skills are just confined to an individual

Candidate Answer: soft skills are just confined to an individual








